NEW TYPES OF GENERALIZED FUZZY BI Γ -IDEALS IN ORDERED Γ -SEMIGROUPS

^a Faiz Muhammad Khan, ^a Nor Haniza Sarmin and ^b Asghar Khan

^a Department of Mathematical Sciences, Faculty of Science, Universiti Teknologi Malaysia
 81310 UTM Johor Bahru, Johor, Malaysia
 E-mail: <u>faiz_zady@yahoo.com</u>, <u>nhs@utm.my</u>

^b Department of Mathematics, Abdul Wali Khan University Mardan, Mardan, KPK, Pakistan *E-mail: azhar4set@yahoo.com*

ABSTRACT.: In this paper, we introduce a new concept of fuzzy bi Γ -ideal of an ordered Γ -semigroup G called a (λ, θ) -fuzzy bi Γ -ideal of G. Fuzzy bi Γ -ideals of type (λ, θ) are the generalization of ordinary fuzzy bi Γ -ideals of an ordered Γ -semigroup G. A new characterization of ordered Γ -semigroups in terms of a (λ, θ) -fuzzy bi Γ -ideal is given. We show that $U(\mu, t)$ is a bi Γ -ideal if and only if the fuzzy subset μ is a (λ, θ) -fuzzy bi Γ -ideal of G for all $t \in (\lambda, \theta]$. Similarly, A is a bi Γ -

ideal if and only if the characteristic function μ_A of A is a (λ, θ)-fuzzy bi Γ -ideal of G. Finally, the

characterization of regular ordered Γ -semigroups in terms of (λ, θ)-fuzzy bi Γ -ideal is given.

Keywords: Ordered Γ -semigroups; regular ordered Γ -semigroups; fuzzy sets; fuzzy bi Γ -*ideal*; (λ, θ)-fuzzy bi

 Γ -ideal.

Mathematical Subject Classification (MSC) 2000: 06F05; 20M12; 08A72.

1. INTRODUCTION

Algebraic structures play a prominent role in mathematics with wide ranging applications in many disciplines like formal languages, fuzzy automata, coding theory, theoretical physics and control engineering. In this regards, ordered semigroups and related structures are extensively investigated in terms of fuzzy notions (see [1]). In 1965, Zadeh [2] introduced a pioneering paper on fuzzy sets. Due to the increasing number of high-quality research articles on fuzzy sets and related concepts that have been published in different indexed journals, workshops and conferences, researchers are motivated to study fuzzy set theory. The notion of fuzzy sets in algebraic structures has been initiated by Rosenfeld [3] in 1971. Kehayopulu and Tsingelis [4] investigated fuzzy bi-ideals in ordered semigroups and discussed some important results of ordered semigroups in terms of their fuzzy bi-ideals (Also see [5, 6]). Rosenfeld's idea of fuzzy subgroup [3] has played a sparking role for researchers to investigate similar type of generalizations of the existing fuzzy subsystems of other algebraic structures. With this objective in view, Sen and Saha [7] initiated the concept of a Γ -semigroup, and established a relation between regular Γ -semigroup and Γ -group (see also [8]). Kwon and Lee introduced the concept of Γ -ideals and weakly prime Γ -ideals in ordered Γ -semigroups in [9], and established the basic properties of ordered Γ semigroups in terms of weakly prime Γ -ideals. In [10], Iampan gave the concept of (0-)minimal and maximal ordered bi-ideals in ordered Γ -semigroups, and give some characterizations of (0-)minimal and maximal ordered biideals in ordered Γ -semigroups (also see [11, 12, 13, 14]). Davvaz et al. [15] studied fuzzy Γ -hypernear-rings and investigated some important results in terms of this notion. Khan *et al.* [16] characterized ordered Γ -semigroups in terms of fuzzy interior Γ -ideals and discussed some

interesting properties of fuzzy interior Γ -ideals in ordered Γ semigroups.

The concept of fuzzy subfield with thresholds has been given by Yuan [17]. Yao [18] discussed a (λ, μ) -fuzzy subrings and a (λ, μ) -fuzzy ideals. In [19], (λ, μ) -fuzzy ideals in semigroups are studied (also see [20, 21]).

In this paper, we deal with a more generalized form of the fuzzy bi Γ -ideals. We introduce the concept of a (λ, θ) -fuzzy bi-ideal of G. We show that every fuzzy bi Γ -ideal is a (λ, θ) -fuzzy bi Γ -ideals of G. We also discuss that the level subset $U(\mu;t)(\phi)$ is a bi Γ -ideal if and only if μ is a (λ, θ) -fuzzy bi Γ -ideal of G for all $t \in (\lambda, \theta]$. We prove that a non-empty subset A of G is a bi Γ -ideal if and only if a characteristic function μ_A of A is a (λ, θ) -fuzzy bi Γ -ideal of G. Finally, regular ordered semigroups are also characterized in terms of this new notion.

2. Preliminaries

Let $G = \{x, y, z, ...\}$ and $\Gamma = \{\alpha, \beta, \gamma, ...\}$ be any two non-empty sets. If there is a function $G \times \Gamma \times G \rightarrow G$ such that $(x\alpha y)\beta z = x\alpha(y\beta z)$ for all $x, y, z \in G$ and $\alpha, \beta \in \Gamma$ then G is called a Γ -semigroup [7]. By an ordered Γ -semigroup we mean a Γ -semigroup G at the same time a poset (G, \leq) satisfying the following condition:

 $a \le b \Longrightarrow a \alpha x \le b \alpha x$ and $x \beta a \le x \beta b$ for all $a, b, x \in G$ and $\alpha, \beta \in \Gamma$.

For $A \subseteq G$, we denote $(A] := \{t \in G \mid t \le h \text{ for some } h \in A\}$ If $A = \{a\}$, then we write (a] instead of $(\{a\}]$.

For $A, B \subseteq G$, we denote

 $A\Gamma B := \{a\alpha b \mid a \in A, b \in B, \alpha \in \Gamma\}.$

Throughout the paper G will denote the ordered Γ -semigroup unless otherwise stated.

A non-empty subset A of an ordered Γ -semigroup G is called a *left* (resp. *right*) Γ -*ideal* [7] of G if it satisfies (i) $(\forall a, b \in G)(\forall b \in A)(a \le b \Longrightarrow a \in A)$,

(ii) $G\Gamma A \subseteq A$ (resp. $A\Gamma G \subseteq A$).

If A is both left Γ -ideal and a right Γ -ideal of G then A is called Γ -ideal of G.

A non-empty subset A of an ordered Γ -semigroup G is called a *bi* Γ -*ideal* [14] of G if it satisfies

(i) $(\forall a, b \in G)(\forall b \in A)(a \le b \Longrightarrow a \in A),$

(ii) $A\Gamma G\Gamma A \subseteq A$.

An ordered Γ -semigroup G is regular [16] if for every $a \in G$ and $\alpha, \beta \in \Gamma$ there exists $x \in G$ such that $a \leq a \alpha x \beta a$ or equivalently, (i) $a \in (a \Gamma G \Gamma a]$ for all $a \in G$ and (ii) $A \subseteq (A \Gamma G \Gamma A]$ for all $A \subseteq G$. An ordered Γ -semigroup G is called a *left* (resp. *right*) *simple* [16] if for every left (resp. right) Γ -ideal A of G we have A = G. An ordered Γ -semigroup G is called *simple* if it is both left and right simple.

Now we recall some fuzzy logic concepts.

A fuzzy subset μ of a universe X is a function from X into a unit closed interval [0,1] of real numbers, i.e., $\mu : X \rightarrow [0,1]$.

For a non-empty subset A of G, the *characteristic* function μ_A of A is a fuzzy subset of G defined by

 $\mu_A = \begin{cases} 1, \text{ if } x \in A, \\ 0, \text{ if } x \notin A. \end{cases}$

If A is a non-empty subset of G and $a \in G$. Then,

 $A_a = \{(y, z) \in G \times G \mid a \le y \alpha z \text{ where } \alpha \in \Gamma\}.$

If μ and F are two fuzzy subsets of G. Then the product $\mu \circ F$ of μ and F is defined by:

$$\begin{split} \mu \circ F \; : \; G \to [0,1] \, | \, a \mapsto (\mu \circ F)(a) = \\ \begin{cases} \bigvee_{(y,z) \in A_a} (\mu(y) \wedge F(z)) \text{ if } A_a \neq \phi \\ 0 & \text{ if } A_a = \phi. \end{cases} \end{split}$$

2.1 Definition

A fuzzy subset μ of an ordered Γ -semigroup (G, Γ, \leq) is called a *fuzzy left* (resp. *right*) Γ -*ideal* of G if it satisfies (i) $(\forall x, y \in G)(x \leq y \Rightarrow \mu(x) \geq \mu(y))$. (ii) ($\forall x, y \in G$) $(\alpha \in \Gamma)(\mu(x\alpha y) \ge \mu(y))$ (resp. $\mu(x\alpha y) \ge \mu(x)$). If μ is both a fuzzy left and fuzzy right Γ -ideal of Gthen it is called a fuzzy Γ -ideal of G. **2.2 Definition**

A fuzzy subset μ of an ordered Γ -semigroup (G, Γ, \leq) is called a *fuzzy bi* Γ -*ideal* of G if it satisfies (i) $(\forall x, y \in G)(\alpha \in \Gamma)(\mu(x\alpha y) \geq \mu(x) \land \mu(y))$,

(ii) $(\forall x, y, z \in G)(\beta, \gamma \in \Gamma)(\mu(x\beta y\gamma z) \ge \mu(x) \land \mu(z)),$ (iii) $(\forall x, y \in G)(x \le y \Rightarrow \mu(x) \ge \mu(y)).$

2.3 Lemma [14]

A non-empty subset A of an ordered Γ -semigroup G is a bi Γ -ideal if and only if a characteristic function μ_A of A is a fuzzy bi Γ -ideal of G.

For a fuzzy subset μ of G and $t \in (0,1]$, the *crisp set* $U(\mu;t) := \{x \in G \mid \mu(x) \ge t\}$ is called the *level subset* of μ .

2.4 Theorem [14].

A fuzzy subset μ of G is a fuzzy bi Γ -ideal of G if and only if each non-empty level subset $U(\mu;t)$ is a bi Γ ideal of G for all $t \in (0,1]$.

3. (λ, θ) -fuzzy bi Γ -ideals

In this section, we introduce some new types of fuzzy bi Γ -ideals in ordered Γ -semigroups called (λ, θ) -fuzzy bi Γ -ideals and investigate different characterization theorems in term of this notion.

In what follows, let $\lambda, \theta \in [0,1]$ be such that $0 \le \lambda < \theta \le 1$. Both λ and θ are arbitrary but fixed.

Now, we introduce the concept of a (λ, θ) -fuzzy bi Γ -ideal of an ordered Γ -semigroup G in the following definition.

3.1 Definition

A fuzzy subset μ of G is called a (λ, θ) -fuzzy left (resp. right) Γ -ideal of G if it satisfies the following conditions: (1) $(\forall x, y \in G)$ with

$$x \le y$$
)(max{ $\mu(x), \lambda$ } \ge min{ $\mu(y), \theta$ })

(2)
$$(\forall x, y \in G)(\forall \alpha \in \Gamma)(\mu(x\alpha y) \lor \lambda) \ge \mu(y) \land \theta)$$

(resp.
$$\mu(x\alpha y) \lor \lambda$$
} $\ge \mu(x) \land \theta$)

3.2 Definition

A fuzzy subset μ of G is called a (λ, θ) -fuzzy bi \cong -ideal

of G if it satisfies the following conditions:

(B1) $(\forall x, y \in G \text{ with } f)$

 $x \leq y$)(max{ $\mu(x), \lambda$ } \geq min{ $\mu(y), \theta$ }).

(B2) $(\forall x, y \in G)(\forall \alpha \in \Gamma)(\mu(x\alpha y) \lor \lambda) \ge \mu(x) \land \mu(y) \land \theta)$.

(B3)
$$\begin{aligned} & (\forall x, y, z \in G)(\forall \beta, \gamma \in \Gamma) \\ & (\mu(x\beta y\gamma z) \lor \lambda\} \ge \mu(x) \land \mu(z) \land \theta) \\ & \textbf{3.3 Theorem} \end{aligned}$$

If a fuzzy subset μ of an ordered Γ -semigroup G is a (λ, θ) -fuzzy bi Γ -ideal of G, then the set $\mu_{\overline{\lambda}}$ is a bi Γ -ideal of G.

Proof Assume that μ is a (λ, θ) -fuzzy bi Γ -ideal of G. Let $x, y \in G$ such that $x \leq y, y \in \mu_{\overline{\lambda}}$. Then $\mu(y) > \lambda$. Since μ is a (λ, θ) -fuzzy bi Γ -ideal therefore $\mu(x) \lor \lambda \ge \mu(y) \land \theta > \lambda \land \theta = \lambda$. Hence $\mu(x) > \lambda$. It implies that $x \in \mu_{\overline{a}}$. If there exist $x, y \in G$ and $\alpha \in \Gamma$ such that $x, y \in \mu_{\overline{\lambda}}$. Then $\mu(x) > \lambda$ and $\mu(y) > \lambda$. Since μ is a (λ, θ) -fuzzy bi Γ -ideal of G, then $\mu(x\alpha y) \lor \lambda \ge \mu(x) \land \mu(y) \land \theta > \lambda \land \lambda \land \theta = \lambda.$ Hence $\mu(x\alpha y) > \lambda$. It shows that $x\alpha y \in \mu_{\overline{\lambda}}$ for all $x, y \in G$ and $\alpha \in \Gamma$. let $x, y, z \in G$ and $\alpha, \beta \in \Gamma$ such that $x, z \in \mu_{\overline{z}}$. Then $\mu(x) > \lambda$ and $\mu(z) > \lambda$. Since μ is a (λ, θ) -fuzzy bi Γ -ideal of G, then $\mu(x\alpha y\beta z) \lor \lambda \ge \mu(x) \land \mu(z) \land \theta > \lambda \land \lambda \land \theta = \lambda.$ Hence $\mu(x\alpha y\beta z) > \lambda$ It shows that $x\alpha y\beta z \in \mu_{\overline{\lambda}}$ for all $x, y, z \in G$ and $\alpha, \beta \in \Gamma$. Hence $\mu_{\overline{\lambda}}$ is a bi Γ -ideal of *G*.

3.4 Theorem

A non empty subset A of an ordered Γ -semigroup G is a bi Γ -ideal of G if and only if a fuzzy subset μ of G defined as follows:

 $\mu(x) = \begin{cases} \geq \theta \text{ for all } x \in A, \\ \lambda \text{ for all } x \notin A, \end{cases}$

is a (λ, θ) -fuzzy bi Γ -ideal of G.

Proof Let A be a bi Γ -ideal of G. If there exist $x, y \in G$ such that $x \leq y$ and $y \in A$ then $x \in A$. Hence $\mu(x) \geq \theta$. Therefore $\mu(x) \lor \lambda \geq \theta = \mu(y) \land \theta$. If $y \notin A$ then $\mu(y) \land \theta = \lambda$. Thus

 $\mu(x) \lor \lambda \ge \lambda = \mu(y) \land \theta. \text{ let } x, y \in G \text{ and } \alpha \in \Gamma$ such that $x, y \in A$. Hence $\mu(x) \ge \theta$ and $\mu(y) \ge \theta$. Therefore $\mu(x\alpha y) \lor \lambda \ge \theta = \mu(x) \land \mu(y) \land \theta$. Now if $x \notin A$ or $y \notin A$ then $\mu(x) \land \mu(y) \land \theta = \lambda$. Thus $\mu(x\alpha y) \lor \lambda \ge \lambda = \mu(x) \land \mu(y) \land \theta$. Assume

 $x, y, z \in G$ and $\alpha, \beta \in \Gamma$ such that $x, z \in A$. Then $\mu(x) \ge \theta$ and $\mu(z) \ge \theta$. Hence

 $\mu(x\alpha y\beta z) \lor \lambda \ge \theta = \mu(x) \land \mu(z) \land \theta. \text{ If } x \notin A \text{ or } z \notin A$ then $\mu(x) \land \mu(z) \land \theta = \lambda$. Thus $\mu(x\alpha y\beta z) \lor \lambda \ge \lambda = \mu(x) \land \mu(z) \land \theta.$ Consequently μ is a (λ, θ) -fuzzy bi Γ -ideal of G.

3.5 Proposition

If $\{F_i : i \in I\}$ is a family of (λ, θ) -fuzzy bi Γ -ideals of an ordered Γ -semigroup G. Then $\bigcap_{i \in I} F_i$ is an (λ, θ) fuzzy bi Γ -ideal of G.

Proof Let $\{F_i\}_{i \in I}$ be a family of (λ, θ) -fuzzy bi Γ -ideals of G. Let $x, y \in G$, $\alpha \in \Gamma$ and $x \leq y$. Then

$$(\bigcap_{i \in I} F_i)(x) \lor \lambda = \bigwedge_{i \in I} F_i(x) \lor \lambda \ge \bigwedge_{i \in I} (F_i(y) \land \theta)$$
$$= \left(\bigcap_{i \in I} F_i\right)(y) \land \theta$$

and

1

$$\left(\bigcap_{i \in I} F_{i}\right)(x \alpha y) \lor \lambda$$

$$= \bigwedge_{i \in I} F_{i}(x \alpha y) \lor \lambda \ge \bigwedge_{i \in I} (F_{i}(x) \land F_{i}(y) \land \theta)$$

$$= \left(\bigwedge_{i \in I} (F_{i}(x) \land \theta) \land \bigwedge_{i \in I} (F_{i}(y) \land \theta)\right)$$

$$= \left(\bigcap_{i \in I} F_{i}\right)(x) \land \left(\bigcap_{i \in I} F_{i}\right)(y) \land \theta$$

Let $x, y, z \in G$ and $\beta, \gamma \in \Gamma$. Then,

$$\begin{pmatrix} \bigcap_{i \in I} F_i \end{pmatrix} (x \beta yz) \lor \lambda = \bigwedge_{i \in I} F_i((x \beta yz) \lor \lambda \ge \bigwedge_{i \in I} (F_i(x) \land F_i(z) \land \theta)$$
$$= \begin{pmatrix} \bigcap_{i \in I} (F_i(x) \land \theta) \land \bigcap_{i \in I} (F_i(z) \land \theta) \\ = \begin{pmatrix} \bigcap_{i \in I} F_i \end{pmatrix} (x) \land \begin{pmatrix} \bigcap_{i \in I} F_i \end{pmatrix} (z) \land \theta.$$

Thus $\bigcap F_i$ is an (λ, θ) -fuzzy bi Γ -ideal of G.

3.6 Theorem

A fuzzy subset μ of an ordered Γ -semigroup G is a fuzzy bi Γ -ideal of G if and only if each non-empty level subset $U(\mu;t)$ is a bi Γ -ideal of G for all $t \in (\lambda, \theta]$.

Proof Let μ be a (λ, θ) -fuzzy bi Γ -ideal of G. If there exist $x, y \in G$, $t \in (\lambda, \theta]$ with $x \leq y$ such that $y \in U(\mu; t)$. Then $\mu(y) \geq t$, since μ is a (λ, θ) -fuzzy bi Γ -ideal of G. Therefore

 $\mu(x) \lor \lambda \ge \mu(y) \land \theta = t \land \theta = t > \lambda$. It implies that $\mu(x) \ge t$. Thus $x \in U(\mu;t)$. Let $x, y \in G$, $\alpha \in \Gamma$ and $x, y \in U(\mu;t)$ where $t \in (\lambda, \theta]$. Then $\mu(x) \ge t$ and $\mu(y) \ge t$, since μ is a (λ, θ) -fuzzy bi Γ -ideal of G. Hence $\mu(x\alpha y) \lor \lambda \ge \mu(x) \land \mu(z) \land \theta = t \land t \land \theta = t > \lambda.$ It implies that $\mu(x\alpha y) \ge t$. Thus $x\alpha y \in U(\mu;t)$. Now assume $x, y, z \in G, \ \alpha, \beta \in \Gamma$ and $x, z \in U(\mu;t)$ where $t \in (\lambda, \theta]$. Then $\mu(x) \ge t$ and $\mu(z) \ge t$, since μ is a (λ, θ) -fuzzy bi Γ -ideal of G. Therefore $\mu(x\alpha y\beta z) \lor \lambda \ge \mu(x) \land \mu(z) \land \theta = t \land t \land \theta = t > \lambda$. It implies that $\mu(x\alpha y\beta z) \ge t$. Thus $x\alpha y\beta z \in U(\mu;t)$. Hence $U(\mu;t)$ is a bi Γ -ideal of G for all $t \in (\lambda, \theta]$.

Conversely, assume that $U(\mu;t)$ is a bi Γ -ideal of G for all $t \in (\lambda, \theta]$. If there exist $x, y \in G$ with $x \leq y$ such that $\mu(x) \lor \lambda < \mu(y) \land \theta$, then there exists $t \in (\lambda, \theta]$ such that $\mu(x) \lor \lambda < t \leq \mu(y) \land \theta$. This shows that $\mu(y) \geq t$ and $\mu(x) < t$ so $y \in U(\mu;t)$, since $U(\mu;t)$ is a bi Γ -ideal of G. Therefore $x \in U(\mu;t)$, but this is a contradiction to $\mu(x) < t$. Thus $\mu(x) \lor \lambda \geq \mu(y) \land \theta$. If $x, y \in G$ and $\alpha \in \Gamma$ such that

 $\mu(x\alpha y) \lor \lambda < \mu(x) \land \mu(y) \land \theta$, then there exists $t \in (\lambda, \theta]$ such that

 $\mu(x\alpha y) \lor \lambda < t \le \mu(x) \land \mu(y) \land \theta$. This shows that $\mu(x) \ge t$, $\mu(y) \ge t$ and $\mu(x\alpha y) < t$ so

 $x, y \in U(\mu; t)$, since $U(\mu; t)$ is a bi Γ -ideal of G. Therefore $x \alpha y \in U(\mu; t)$, but this is a contradiction to $\mu(x \alpha y) < t$. Thus $\mu(x \alpha y) \lor \lambda \ge \mu(x) \land \mu(y) \land \theta$ for all $x, y \in G$ and $\alpha \in \Gamma$. Now let $x, y, z \in G$ and $\alpha, \beta \in \Gamma$ such that

 $\mu(x\alpha y\beta z) \lor \lambda < \mu(x) \land \mu(z) \land \theta$, then there exists $t \in (\lambda, \theta]$ such that

 $\mu(x\alpha y\beta z) \lor \lambda < t \le \mu(x) \land \mu(z) \land \theta$. This shows that $\mu(x) \ge t$, $\mu(z) \ge t$ and $\mu(x\alpha y\beta z) < t$ so $x, z \in U(\mu; t)$, since $U(\mu; t)$ is a bi Γ -ideal of G. Therefore $x\alpha y\beta z \in U(\mu; t)$, but this is a contradiction to $\mu(x\alpha y\beta z) < t$. Hence

 $\mu(x\alpha y\beta z) \lor \lambda \ge \mu(x) \land \mu(z) \land \theta$ for all $x, y, z \in G$ and $\alpha, \beta \in \Gamma$. Consequently μ is a (λ, θ) -fuzzy bi Γ -ideal of G.

3.7 Theorem

Let μ be a fuzzy subset of G. If μ is a (λ, θ) -fuzzy bi Γ -ideal, then the following conditions hold:

(1) $(\forall x, y \in G)(\mu(x) \lor \lambda \ge \mu(y) \land \theta \text{ with } x \le y),$ (2) $(\forall x, y, z \in G) (\forall \alpha \in \Gamma)$ $(\mu(x\alpha y) \lor \lambda \ge \mu(x) \land \mu(y) \land \theta).$ (3) $(\forall x, y, z \in G) (\forall \beta, \gamma \in \Gamma)$ $(\mu(x\beta y\gamma z) \lor \lambda \ge \mu(x) \land \mu(z) \land \theta).$ If $\lambda = 0$ and $\theta = 1$ then we have the following corollary. **3.8 Corollary**

Every fuzzy bi Γ -ideal μ of an ordered Γ -semigroup G is a (λ, θ) -fuzzy bi Γ -ideal of G.

3.9 Lemma

A non-empty subset A of an ordered Γ -semigroup G is a bi Γ -ideal if and only if a characteristic function μ_A of A is a (λ, θ) -fuzzy bi Γ -ideal of G.

Proof Suppose that A is a bi Γ -ideal of G and μ_A is a characteristic function of A. Let $x, y \in G$ with $x \leq y$.

If $y \in A$ then $\mu_A(y) = 1$. Since A is by Γ -ideal and $x \leq y$ such that $y \in A$ then $x \in A$. Therefore $\mu_A(x) = 1$. As $\lambda < \theta$ so we have

$$\mu_A(x) \lor \lambda \ge \mu_A(y) \land \theta.$$

If $y \notin A$ then $\mu_A(y) = 0$. Hence

$$\mu_A(x) \lor \lambda \ge \mu_A(y) \land \theta.$$

Now let $x, y \in G$ and $\alpha \in \Gamma$ then we discuss the following Cases:

Case 1 if $x, y \in A$, then $\mu_A(x) = 1 = \mu_A(y)$.

Since A is bi Γ -ideal and $x, y \in A$, $\alpha \in \Gamma$. Therefore $x \alpha y \in A$. Hence $\mu_A(x \alpha y) = 1$. Also $\lambda < \theta$. Thus

 $\mu_A(x\alpha y) \lor \lambda \ge \mu_A(x) \land \mu_A(y) \land \theta.$

Case 2 if $x, y \notin A$, then $\mu_A(x) = 0 = \mu_A(y)$. Hence $\mu_A(x \alpha y) \lor \lambda \ge \mu_A(x) \land \mu_A(y) \land \theta$.

Case 3 if $x \in A$ and $y \notin A$ then $\mu_A(x) = 1$ and $\mu_A(y) = 0$. Thus $\mu_A(x0 \land \mu_A(y) \land \theta = 0$. Therefore $\mu_A(x\alpha y) \lor \lambda \ge \mu_A(x) \land \mu_A(y) \land \theta$.

Similarly for $x \notin A$ and $y \in A$ then $\mu_A(x) = 0$ and $\mu_A(y) = 1$. It implies that $\mu_A(x) \wedge \mu_A(y) \wedge \theta = 0$. Hence in any case $\mu_A(x\alpha y) \vee \lambda \ge \mu_A(x) \wedge \mu_A(y) \wedge \theta$. for all $x, y \in G$ and $\alpha \in \Gamma$. If there exist $x, y, z \in G$ and $\alpha, \beta \in \Gamma$ then we discuss the following Cases:

Case 1 if $x, z \in A$, then $\mu_A(x) = 1 = \mu_A(z)$. Since A is bi Γ -ideal and $x, z \in A$, $\alpha, \beta \in \Gamma$. Therefore $x \alpha y \beta z \in A$. Hence $\mu_A(x \alpha y \beta z) = 1$. Also $\lambda < \theta$. Thus $\mu_A(x \alpha y \beta z) \lor \lambda \ge \mu_A(x) \land \mu_A(z) \land \theta$. Case 2 if $x, z \notin A$, then $\mu_A(x) = 0 = \mu_A(z)$. Hence $\mu_A(x \alpha y \beta z) \lor \lambda \ge \mu_A(x) \land \mu_A(z) \land \theta$. Case 3 if $x \in A$ and $z \notin A$ then $\mu_A(x) = 1$ and $\mu_A(z) = 0$. Thus $\mu_A(x) \land \mu_A(z) \land \theta = 0$. Therefore

 $\mu_A(z) = 0$. Thus $\mu_A(x) \wedge \mu_A(z) \wedge \theta = 0$. Therefore $\mu_A(x \alpha y \beta z) \vee \lambda \ge \mu_A(x) \wedge \mu_A(z) \wedge \theta$. Similarly for $x \notin A$ and $z \in A$ then $\mu_A(x) = 0$ and $\mu_A(z) = 1$. It implies that $\mu_A(x) \wedge \mu_A(z) \wedge \theta = 0$. Thus in any case $\mu_A(x \alpha y \beta z) \vee \lambda \ge \mu_A(x) \wedge \mu_A(z) \wedge \theta$. for all $x, y, z \in G$ and $\alpha, \beta \in \Gamma$. Consequently μ_A is a (λ, θ) -fuzzy bi Γ -ideal of G. Conversely, assume that μ_A is a (λ, θ) -fuzzy bi Γ -ideal for G and $\alpha, \beta \in \Gamma$.

of G. Suppose that $x, y \in G$ such that $x \leq y$ and $y \in A$. Then $\mu_A(y) = 1$, since μ_A is a (λ, θ) -fuzzy bi Γ -ideal so

 $\mu_A(x) \lor \lambda \ge \mu_A(y) \land \theta$ $= 1 \land \theta = \theta.$

Since $\lambda < \theta$ therefore $\mu_A(x) \ge \theta$. Hence $x \in A$. If there exist $x, y \in G$ and $\alpha \in \Gamma$ such that $x, y \in A$. Then $\mu_A(x) = 1 = \mu_A(y)$, since μ_A is a (λ, θ) -fuzzy bi Γ -ideal so

$$\mu_A(x\alpha y) \lor \lambda \ge \mu_A(x) \land \mu_A(y) \land \theta$$
$$= 1 \land 1 \land \theta = \theta.$$

That is, $\mu_A(x \alpha y) \ge \theta$. Hence $x \alpha y \in A$. Now let $x, y, z \in G$ and $\beta, \gamma \in \Gamma$ such that $x, z \in A$. Then $\mu_A(x) = 1 = \mu_A(z)$, since μ_A is a (λ, θ) -fuzzy bi Γ -ideal so

$$\mu_A(x\beta y\gamma z) \lor \lambda \ge \mu_A(x) \land \mu_A(z) \land \theta$$
$$= 1 \land 1 \land \theta = \theta.$$

It implies that $\mu_A(x\beta y\gamma z) \ge \theta$. Hence $x\beta y\gamma z \in A$. Therefore A is a bi Γ -ideal of G.

4. Regular ordered Γ-semigroups in terms of (λ, θ)fuzzy bi Γ-ideals

In this section, we introduce the notion of μ_{λ}^{θ} fuzzy subset of G. We prove that if μ is a (λ, θ) -fuzzy bi Γ -ideals of G, then μ_{λ}^{θ} is a fuzzy bi Γ -ideal of G. We also characterize regular ordered Γ -semigroups by the properties of their (λ, θ) -fuzzy bi Γ -ideals.

4.1 Definition

Let μ be a fuzzy subset of an ordered Γ -semigroup G, we define the fuzzy subset μ_{λ}^{θ} of G as follows:

$$\mu_{\lambda}^{\theta}(x) = \{\mu(x) \land \theta\} \lor \lambda \text{ for all } x \in G.$$

4.2 Definition

Let μ and F be fuzzy subsets of an ordered Γ -semigroup G. Then we define the fuzzy subsets $\mu \wedge_{\lambda}^{\theta} F, \mu \vee_{\lambda}^{\theta} F$ and $\mu \circ_{\lambda}^{\theta} F$ of G as follows:

$$(\mu \wedge_{\lambda}^{\theta} F)(x) = \{(\mu \wedge F)(x) \wedge \theta\} \vee \lambda,$$

$$(\mu \vee_{\lambda}^{\theta} F)(x) = \{(\mu \vee F)(x) \wedge \theta\} \vee \lambda,$$

$$(\mu \circ_{\lambda}^{\theta} F)(x) = \{(\mu \circ F)(x) \wedge \theta\} \vee \lambda,$$

for all $x \in G$.

4.3 Lemma

Let μ and F be fuzzy subsets of an ordered Γ -semigroup

G. Then the following holds.
(1)
$$(\mu \wedge_{\lambda}^{\theta} F) = (\mu_{\lambda}^{\theta} \wedge F_{\lambda}^{\theta}).$$

(2) $(\mu \vee_{\lambda}^{\theta} F) = (\mu_{\lambda}^{\theta} \vee F_{\lambda}^{\theta}).$

(3)
$$(\mu \circ_{\lambda}^{\theta} F) = (\mu_{\lambda}^{\theta} \circ F_{\lambda}^{\theta}).$$

Proof The proofs are straightforward.

4.4 Definition

If χ_A is the characteristic function of A, then $(\chi_A)^{\theta}_{\lambda}$ is defined as:

$$(\chi_A)^{\theta}_{\lambda}(x) \coloneqq \begin{cases} \theta \text{ if } x \in A, \\ \lambda \text{ if } x \notin A. \end{cases}$$

4.5 Lemma

Let A and B be non-empty subsets of an ordered Γ -semigroup G. Then the following hold:

- (1) $(\chi_A \wedge^{\theta}_{\lambda} \chi_B) = (\chi_{A \cap B})^{\theta}_{\lambda}$. (2) $(\chi_A \vee^{\theta}_{\lambda} \chi_B) = (\chi_{A \cup B})^{\theta}_{\lambda}$. (3) $(\chi_A \circ^{\theta}_{\lambda} \chi_B) = (\chi_{(A \Gamma B)})^{\theta}_{\lambda}$.
- Proof The proofs of (1) and (2) are obvious. For the proof of (3) let $x \in (A\Gamma B]$. Then $\chi_{(A\Gamma B]}(x) = 1$ and hence $\{\chi_{(A\Gamma B]}(x) \land \theta\} \lor \lambda = \{1 \land \theta\} \lor \lambda = \theta$. It implies that $(\chi_{(A\Gamma B]})^{\theta}_{\lambda}(x) = \theta$. Since $x \in (A\Gamma B]$, we have $x \le a\alpha b$ for some $a \in A$, $b \in B$ and $\alpha \in \Gamma$. Then $(a,b) \in A_x$ and $A_x \ne \phi$. Thus

$$(\chi_A \circ^{\theta}_{\lambda} \chi_B)(x) = \{(\chi_A \circ \chi_B)(x) \land \theta\} \lor \lambda$$
$$= \left[\left\{ \bigvee_{(y,z) \in A_x} (\chi_A(y) \land \chi_B(z)) \right\} \land \theta \right] \lor \lambda$$
$$\geq \left[\{(\chi_A(a) \land \chi_B(b))\} \land \theta \right] \lor \lambda.$$

Since $a \in A$ and $b \in B$, we have $\chi_A(a) = 1$ and $\chi_B(b) = 1$ and so

$$(\chi_A \circ_{\lambda} \chi_B)(x) \ge [\{(\chi_A(a) \land \chi_B(b))\} \land \theta] \lor \lambda$$
$$= [\{(1 \land 1)\} \land \theta] \lor \lambda$$
$$= [1 \land \theta] \lor \lambda = \theta \lor \lambda = \theta$$
Thus, $(\chi_A \circ_{\lambda}^{\theta} \chi_B)(x) = \theta = (\chi_{(A\Gamma B]})_{\lambda}^{\theta}(x)$. Let $x \notin (A\Gamma B]$, then $\chi_{(A\Gamma B]}(x) = 0$ and hence,

$$\{\chi_{(A\Gamma B]}(x) \land \theta\} \lor \lambda = (0 \land \theta) \lor \lambda = \lambda. \text{ So}$$
$$(\chi_{(A\Gamma B]})^{\theta}_{\lambda}(x) = \lambda. \text{ Let } (y, z) \in A_{x}. \text{ Then}$$
$$(\chi_{A} \circ^{\theta}_{\lambda} \chi_{B})(x) = \{(\chi_{A} \circ \chi_{B})(x) \land \theta\} \lor \lambda$$
$$= \left[\left\{ \bigvee_{(y, z) \in A_{x}} (\chi_{A}(y) \land \chi_{B}(z)) \right\} \land \theta \right] \lor \lambda$$

Since $(y, z) \in A_x$, then $x \le y\beta z$ for $\beta \in \Gamma$. If $y \in A$ and $z \in B$, then $y\beta z \in A\Gamma B$ and so $x \in (A\Gamma B]$. This is a contradiction. If $y \notin A$ and $z \in B$, then

$$\begin{bmatrix} \left\{ \bigvee_{(y,z)\in A_{x}} (\chi_{A}(y) \land \chi_{B}(z)) \right\} \land \theta \end{bmatrix} \lor \lambda$$
$$= \begin{bmatrix} \left\{ \bigvee_{(y,z)\in A_{x}} (0 \land 1) \right\} \land \theta \end{bmatrix} \lor \lambda = \lambda.$$

Hence, $(\chi_A \circ^{\theta}_{\lambda} \chi_B)(x) = \lambda = (\chi_{(A \cap B]})^{\theta}_{\lambda}(x)$. Similarly, for $y \in A$ and $z \notin B$, we have $(\chi_A \circ^{\theta}_{\lambda} \chi_B)(x) = \lambda = (\chi_{(A \cap B]})^{\theta}_{\lambda}(x)$.

4.6 Theorem

The characteristic function $(\chi_A)^{\theta}_{\lambda}$ of A is a (λ, θ) -fuzzy bi Γ -ideal if and only if A is a bi Γ -ideal of G. Proof Suppose that A is a bi Γ -ideal of G. Then by Lemma 3.9, $(\chi_A)^{\theta}_{\lambda}$ is a (λ, θ) -fuzzy bi Γ -ideal of G. Conversely, assume that $(\chi_A)^{\theta}_{\lambda}$ is a (λ, θ) -fuzzy bi Γ ideal of G. Let $x, y \in G$ and $\alpha \in \Gamma$ be such that $x, y \in A$. It implies that $(\chi_A)^{\theta}_{\lambda}(x) = \theta$ and $(\chi_A)^{\theta}_{\lambda}(y) = \theta$ Since $(\chi_A)^{\theta}_{\lambda}$ is a (λ, θ) -fuzzy bi Γ ideal of G. Therefore $\max\{(\chi_A)^{\theta}_{\lambda}(x\alpha y), \lambda\} \ge \min\{(\chi_A)^{\theta}_{\lambda}(x), (\chi_A)^{\theta}_{\lambda}(y), \theta\}$ $= \{\theta, \theta, \theta\} = \theta.$

Since $\lambda < \theta$. Hence $(\chi_A)^{\theta}_{\lambda}(x\alpha y) = \theta$. It shows that $x\alpha y \in A$. Now if there exist $x, y, z \in G$ and $\beta, \gamma \in \Gamma$ such that $x, z \in A$. Then $(\chi_A)^{\theta}_{\lambda}(x) = \theta$ and $(\chi_A)^{\theta}_{\lambda}(z) = \theta$ Since $(\chi_A)^{\theta}_{\lambda}$ is a (λ, θ) -fuzzy bi Γ -ideal of G. We have

$$\max\{(\chi_A)^{\theta}_{\lambda}(x\beta y\gamma),\lambda\} \ge \min\{(\chi_A)^{\theta}_{\lambda}(x),(\chi_A)^{\theta}_{\lambda}(z),\theta\}$$
$$= \{\theta,\theta,\theta\} = \theta.$$

Since $\lambda < \theta$. Hence $(\chi_A)^{\theta}_{\lambda}(x\beta y\gamma z) = \theta$. Therefore $x\beta y\gamma z \in A$. Consequently, *A* is a bi Γ -ideal of *G*.

4.7 Lemma The characteristic function $(\chi_A)^{\theta}_{\lambda}$ of A is a (λ, θ) -fuzzy left (resp. right) Γ -ideal of an ordered Γ -semigroup G if and only if A is a left (resp. right) Γ -ideal of G. Proof The proof follows from Theorem 4.6. 4.8 Proposition If μ is a (λ, θ) -fuzzy bi Γ -ideal, then μ_{λ}^{θ} is a fuzzy bi Γ -ideal of G. Proof Assume that μ is a (λ, θ) -fuzzy bi Γ -ideal of G. If there exist $x, y, z \in G$ and $\alpha, \beta \in \Gamma$, then $\max\{\mu_{\lambda}^{\theta}(x\alpha y\beta z),\lambda\}$ $= \max\{(\{\mu(x\alpha_y\beta_z) \land \theta\} \lor \lambda), \lambda\} =$ $\{\mu(x\alpha_y\beta_z)\land\theta\}\lor\lambda$ = { $\mu(x\alpha\gamma\beta z) \lor \lambda$ } \land { $\theta \lor \lambda$ } $= \{\mu(x\alpha v\beta z) \lor \lambda\} \land \theta$ $= \{(\mu(x\alpha y\beta z) \lor \lambda) \lor \lambda\} \land \theta$ $\geq \{(\mu(x) \land \mu(z) \land \theta) \lor \lambda\} \land \theta$ $= \{(\mu(x) \land \mu(z) \land \theta \land \theta) \lor \lambda \lor \lambda\} \land \theta$ $= \{\{(\mu(x) \land \theta) \lor \lambda\} \land \{(\mu(z) \land \theta) \lor \lambda\}\} \land \theta$ $= \{\mu_{1}^{\theta}(x) \wedge \mu_{2}^{\theta}(z)\} \wedge \theta$ $= \min\{\mu_{\lambda}^{\theta}(x), \mu_{\lambda}^{\theta}(z), \theta\}.$

By similar way we can show the remaining part of the proposition.

4.9 Corollary

If $\{\mu_i : i \in I\}$ is a family of (λ, θ) -fuzzy bi Γ -ideal of an ordered Γ -semigroups G, then $\bigcap_{i \in I} (\mu_i)^{\theta}_{\lambda}$ is a (λ, θ) -

fuzzy bi Γ -ideal of G. 4.10 Lemma [16]

An ordered Γ -semigroup G is left (resp. right) simple if and only if $(G\Gamma a] = G$ (resp. $(a\Gamma G] = G$) for every $a \in G$.

4.11 Theorem

An ordered Γ -semigroup G is regular, left and right simple if and only if for every (λ, θ) -fuzzy bi Γ -ideal μ of G, μ_{λ}^{θ} is a constant function.

Proof Assume that G is regular, left and right simple and μ is a (λ, θ) -fuzzy bi Γ -ideal of G. We consider, $E_G = \{e \in G \mid e \le e \alpha e \text{ for } \alpha \in \Gamma\}, \text{ then } E_G \neq \phi,$

because G is regular, hence for every $a \in G$, there exists $x \in G$ and $\alpha, \beta \in \Gamma$ such that $a \le a \alpha x \beta a$, then $a \alpha x \le (a \alpha x \beta a) \alpha x = (a \alpha x) \beta(a \alpha x)$ and so

 $a \alpha x \in E_G$. Let $b, e \in E_G$. Since G is left and right simple, by Lemma 4.10, it follows that $G = (G \Gamma b]$ and

 $G = (b\Gamma G]$. Since $e \in G$, we have $e \in (G\Gamma b]$ and $e \in (b\Gamma G]$, then $e \leq x \gamma b$ and $e \leq b \delta y$ for some $x, y \in G$ and $\gamma, \delta \in \Gamma$, and we have $e \alpha e = (b \delta y) \alpha(x \gamma b) \leq b \delta(y \alpha x) \gamma b.$ Since μ is a (λ, θ) -fuzzy bi Γ -ideal of G, we have $\mu_{\lambda}^{\theta}(e\alpha e) = \{\mu(e\alpha e) \land \theta\} \lor \lambda$ $= \{ \mu(e\alpha e) \lor \lambda \} \land \{\theta \lor \lambda \}$ $= \{ \mu(e\alpha e) \lor \lambda \} \land \theta$ $= \{ (\mu(e\alpha e) \lor \lambda) \lor \lambda \} \land \theta$ $\geq \{(\mu(b\delta(v\alpha x)\gamma b) \land \theta) \lor \lambda\} \land \theta\}$ $= (\mu(b\delta(y\alpha x)\gamma b) \vee \lambda) \wedge (\theta \vee \lambda) \wedge \theta$ $= (\mu(b\delta(\gamma\alpha x)\gamma b) \vee \lambda) \wedge \theta \wedge \theta$ $= (\mu(b\delta(\gamma\alpha x)\gamma b) \vee \lambda) \wedge \theta$ $= (\mu(b\delta(y\alpha x)\gamma b) \vee \lambda) \vee \lambda) \wedge \theta$ $\geq (\{\mu(b) \land \mu(b) \land \theta\} \lor \lambda) \land \theta$ $= (\{\mu(b) \land \mu(b) \land \theta\} \land \theta) \lor (\lambda \land \theta)$ $= (\mu(b) \land \theta) \lor \lambda$ $=\mu_{1}^{\theta}(b).$

Thus we have,

$$\begin{split} \mu_{\lambda}^{\theta}(e\alpha e) &\geq \mu_{\lambda}^{\theta}(b) \quad (*). \\ \text{Since } e \in E_{G}, \text{ we have } e \leq e\alpha e \text{ and so} \\ \mu_{\lambda}^{\theta}(e) &= \{\mu(e) \land \theta\} \lor \lambda \\ &= (\mu(e) \lor \lambda) \land (\theta \lor \lambda) \\ &= (\mu(e) \lor \lambda) \land \lambda \land \theta \\ &= ((\mu(e) \lor \lambda) \lor \lambda) \land \theta \\ &\geq \{(\mu(e\alpha e) \land \theta) \lor \lambda\} \land \theta \\ &= \{(\mu(e\alpha e) \land \theta) \land \theta\} \lor \{\lambda \land \theta\} \\ &= (\mu(e\alpha e) \land \theta) \lor \lambda \\ &= \mu_{\lambda}^{\theta}(e\alpha e), \end{split}$$

it follows that $\mu_{\lambda}^{\theta}(e) \geq \mu_{\lambda}^{\theta}(e\alpha e)$. Thus, by (*), we have $\mu_{\lambda}^{\theta}(e) \geq \mu_{\lambda}^{\theta}(b)$. On the other hand, since $e \in G$, by Lemma 4.10, we have $(G\Gamma e] = G = (e\Gamma G]$. Since $b \in G$, we have $b \in (G\Gamma e]$ and $b \in (e\Gamma G]$, then $b \leq g\beta e$ and $b \leq t\gamma e$ for some $g, t \in G$ and $\beta, \gamma \in \Gamma$. Thus, by the same arguments as above, we get $\mu_{\lambda}^{\theta}(b) \geq \mu_{\lambda}^{\theta}(e)$. It follows that $\mu_{\lambda}^{\theta}(e) = \mu_{\lambda}^{\theta}(b)$ and hence, μ_{λ}^{θ} is constant on E_{G} .

Now, let $a \in G$, then there exists $x \in G$ and $\alpha, \beta \in \Gamma$ such that $a \le a \alpha x \beta a$. It follows that

 $a\alpha x \leq (a\alpha x\beta a)\alpha x = (a\alpha x)\beta(a\alpha x)$ and $x\beta a \le x\beta(a\alpha x\beta a) = (x\beta a)\alpha(x\beta a)$. Thus, $a\alpha x, x\beta a \in E_G$, it follows by the previous arguments, we get, $\mu_{\lambda}^{\theta}(a\alpha x) = \mu_{\lambda}^{\theta}(b) = \mu_{\lambda}^{\theta}(x\beta a)$. Since $(a\alpha x)\gamma a\delta(x\beta a) = (a\alpha x\gamma a)\delta x\beta a \ge a\alpha x\gamma a \ge a,$ we get, $\mu_{\lambda}^{\theta}(a) = \{\mu(a) \land \theta\} \lor \lambda$ $= (\mu(a) \lor \lambda) \land (\theta \lor \lambda)$ $= (\mu(a) \lor \lambda) \land \theta$ $= (\mu(a) \lor \lambda \lor \lambda) \land \theta$ $\geq (\{\mu((a\alpha x)\gamma a\delta(x\beta a)) \land \theta\} \lor \lambda) \land \theta$ $= [\{\mu((a\alpha x)\gamma a\delta(x\beta a)) \lor \lambda\} \land \{\theta \lor \lambda\}] \land \theta$ = [{ $\mu((a\alpha x)\gamma a\delta(x\beta a)) \vee \lambda$ } $\wedge \theta$] $\wedge \theta$] $= \{\mu((a\alpha x)\gamma a\delta(x\beta a)) \lor \lambda\} \land \theta$ = { $\mu((a\alpha x)\gamma a\delta(x\beta a)) \lor \lambda \lor \lambda$ } $\land \theta$ $\geq [\{\mu(a\alpha x) \land \mu(x\beta a) \land \theta\} \lor \lambda] \land \theta$ $= [\{\mu(a\alpha x) \land \mu(x\beta a) \land \theta\} \land \theta] \lor [\lambda \land \theta]$ $= [\{\mu(a\alpha x) \land \mu(x\beta a) \land \theta\} \lor \lambda]$ $= [\{\mu(a\alpha x) \land \theta\} \lor \lambda] \land [\{\mu(x\beta a) \land \theta\} \lor \lambda]$ $= \mu_{\lambda}^{\theta}(a\alpha x) \wedge \mu_{\lambda}^{\theta}(x\beta a) = \mu_{\lambda}^{\theta}(b)$

Thus $\mu_{\lambda}^{\theta}(a) \ge \mu_{\lambda}^{\theta}(b)$. Similarly we can show that $\mu_{\lambda}^{\theta}(b) \ge \mu_{\lambda}^{\theta}(a)$. Therefore $\mu_{\lambda}^{\theta}(a) = \mu_{\lambda}^{\theta}(b)$ and so, μ_{λ}^{θ} is a constant function on G.

Conversely, let $a \in G$. Then obviously, $(G\Gamma a]$ is a bi Γ -ideal of G and Lemma 3.9, the characteristic function

$$\chi_{(G\Gamma a]} : G \to [0,1] | x \mapsto \chi_{(G\Gamma a]}(x) = \begin{cases} \theta \text{ if } x \in (G\Gamma a], \\ \lambda \text{ if } x \notin (G\Gamma a], \end{cases}$$

is an (λ, θ) -fuzzy bi Γ -ideal of G. By hypothesis, since every (λ, θ) -fuzzy bi Γ -ideal is a constant function so for every $x \in G$, we have, $\chi_{(G\Gamma a]}(x) = c$. Let $(G\Gamma a] \subset G$ and take $t \in G$ such that $t \notin (G\Gamma a]$. Then $\chi_{(G\Gamma a]}(t) = \lambda$, on the other hand, since $a\alpha a \in (G\Gamma a]$, we have $\chi_{(G\Gamma a]}(a\alpha a) = \theta$, a contradiction, because every (λ, θ) -fuzzy bi Γ -ideal is a constant function. Thus, $(G\Gamma a] = G$. In a similar way, we have, $(a\Gamma G] = G$, consequently, G is left and right simple. Since $a \in (G\Gamma a] = ((a\Gamma G]\Gamma a] = (a\Gamma G\Gamma a]$. Thus, G is regular.

5. CONCLUDING REMARKS.

In this paper, we investigated the more generalized form of fuzzy bi Γ -ideals of an ordered Γ -semigroup G and gave the concept of a (λ, θ) -fuzzy bi Γ -ideal of G. We proved that μ is an ordinary fuzzy bi Γ -ideal for $\lambda = 0$ and $\theta = 1$. We have also provided the necessary and sufficient conditions for both level subset $U(\mu;t)$ of μ and a characteristic function μ_A of A to be fuzzy bi Γ -ideals of the type (λ, θ) . Finally, we characterized regular ordered Γ -semigroups by the properties of their (λ, θ) -fuzzy bi Γ -ideals.

REFERENCES

- Mordeson, J. N., Malik, D. S., and Kuroki, N., Fuzzy Semigroups, *Studies in Fuzziness and Soft Computing*, Springer-Verlag, Berlin, Vol., **131**, (2003).
- 2. Zadeh, L. A., "Fuzzy sets," *Information and Control*, **8**, 338-353(1965).
- 3. Rosenfeld, A., "Fuzzy groups," J. Math. Anal. Appl., 35, 512-517(1971).
- Kehayopulu, N., and Tsingelis, M., "Fuzzy bi-ideals in ordered semigroups," *Information Sciences*, 171, 13-28(2005).
- Jun, Y. B., Khan, A., and Shabir, M., "Ordered semigroups characterized by their (∈, ∈ ∨ q)-fuzzy bi-ideals," *Bull. Malays. Math. Sci. Soc.*, (2)32(3), 391-408(2009).
- 6. Khan, A., Jun, Y. B., Sarmin, N. H., and Khan, F. M., "Ordered semigroups characterized by (∈, ∈ ∨q_k) fuzzy generalized bi-ideals," *Neural Comput & Applic.*, DOI:10.1007/s00521-011-0731-2(2011).
- 7. Sen, M. K., and Saha, N. K., "On Γ -semigroups I," *Bull. Cal. Math. Soc.*, **78**, 180 – 186(1986).
- 8. Sen, M. K., "On Γ -semigroups," Proceedings of the International Conference on Algebra and It's Applications, *Decker Publication, New York*, 30 (1981).
- Kwon, Y. I., and Lee, S. K., "On weakly prime ideals of ordered Γ-semigroups," Comm. Korean Math. Soc.,

13(2), 251 – 256(1998).

- 10. Iampan, A., "Characterizing ordered bi-Ideals in ordered Γ -semigroups," *Iranian Journal of Mathematical Sciences and Informatics*, **4(1)**, 17-25(2009).
- 11. Iampan, A., "Characterizing ordered quasi-ideals of ordered Γ -semigroups," *Kragujevac Journal of Mathematics*, **35(1)**, 13-23(2011).
- Chinram, R., "Rough prime ideals and rough fuzzy prime ideals in gamma-semigroups," *Commun. Korean Math. Soc.*, 24(3), 341-351(2009).
- 13. Chinram, R., and Tinpun, K., "A note on minimal biideals in ordered Γ -semigroups," *International Mathematical Forum*, **4(1)**, 1-5(2009).
- Mahmood, A., Naeem, M. N., and Ahmad, M., 2011, "Fuzzy Γ-ideals and fuzzy Γ-filters in ordered gamma semigroups," *European Journal of Scientific Research*, 49(3), 311-321(2011).
- Davvaz, B., Zhan, J., and Kim, K. H., "Fuzzy Γhypernear-rings," *Comput. Math. Appl.*, **59**, 2846-2853(2010).
- 16. Khan, A., Mahmmod, T., and Ali, I., "Fuzzy interior Γideals in ordered Γ-semigroups," J. Appl. Math. & Informatics, 28(5-6), 1217-1225(2010).
- 17. Yuan, X., Zhang, C., and Ren, Y., "Generalized fuzzy groups and many-valued implications," *Fuzzy Sets and Systems*, **138**, 205-211(2003).
- 18. Yao, B., " (λ, μ) -fuzzy subrings and (λ, μ) -fuzzy ideals," *The Journal of Fuzzy Mathematics*, **15 (4)**, 981-987(2007).
- Yao, B., "(λ, μ)-fuzzy ideals in semigroups," *Fuzzy* Systems and Mathematics, 23 (1), 123-127(2009).
- 20. Yao, B., " (λ, μ) -fuzzy normal subfields and (λ, μ) fuzzy quotient subfields," *The Journal of Fuzzy Mathematics*, **13 (3)**, 695-705(2005)
- 21. Coumaressane, S., "Near-rings characterized by their (λ, θ) -fuzzy quasi-ideals," *International journal of Computational Cognition*, **8**, 5-11(2010)